MTH 267, Quiz #11, Fall 2022 Name K E\r

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers
unless specifically asked to estimate.

1. Rewriteu” + %u' + 2u = 0 as a system of first order equations.
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2. Rewrite the system {x} =821~ 2 as a single second order equation.
2% = X,/ =2x, Xi= N X'z DR (-2
Ko = X/ e %, = —2%2
"—_Lxl"—!-ix,:zx_;(-lx) 3 -\ ) <
z 2™ ! z‘*?)‘l) -i.?(‘+“'2‘~|=¥-1.
o TALTE ’
iﬁ 2A S EME AR =gy, X' = =4 Medx,

2+ 3 = =X 2k

xS =3/ v =0 9 (2) = R x *a.x.-oqx—f-x ‘—ar= DN

3. Find the eigenvalues and eigenvectors of
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4. Solve¥' = (g "11)56,.%'(0) = (_21) [Hinf:'see ;3a]
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5. Draw a direction field for the system ¥’ = (g :g) X and plot several trajectories of the

system.
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